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Similarly,
[7(x), p(x')*] = —do(x')*ihd(x — x').

Writing H = Hy + H; where
Ho = [ (36 + 3 (V0P + dmio(a) )P
Hr = [0 + 3 M0(a) 1
we showed already (in the notes) that
[m(x), Ho] = ih [V2¢(x) — m2¢(x)] .
We now have
. 1 / "2 1 / "3 3/
[w(x),Hf] = — zh/ [)\35(5()( —x")p(x')* + )\455(x —x")p(x) } d°x

=—ih BA3¢(XI)2 + %)\4¢(XI)3-

So
(), H] = ih | 7200) — m6(x) ~ LAad(x ~ g Aad(x)
and
iht = [m, H]
gives

= § = V2(x) — m2p(x) — JAs6(x)? — S Aad(x'),

which (since 82¢ = ¢ — V2¢) implies
2 2 Ly o 1 3

as required.



